This report contains the transfers results.

Valid Votes
Positions to be Filled
Quota

Ward 1 - Barrhead Liboside and Uplawmoor

6,733

4

1,347

Stage 1

Candidate Name	Affiliation	No. of Ballot Papers
Paul AITKEN	Independent	345
Neil ANDERSON	Alba Party for independence	74
Angela CONVERY	Scottish National Party (SNP)	1,639
Betty Wood CUNNINGHAM	Scottish Labour Party	1,355
Danny DEVLIN	Independent	1,753
Chris LUNDAY	Scottish National Party (SNP)	616
Greg TURNER	Scottish Conservative and Unionist	722
Frank WILSON	Scottish Green Party	229
	Total	6,733

Candidate Angela CONVERY Elected with 1,639 votes, being in excess of the quota of 1,347 Candidate Betty Wood CUNNINGHAM Elected with 1,355 votes, being in excess of the quota of 1,347 Candidate Danny DEVLIN Elected with 1,753 votes, being in excess of the quota of 1,347

This report contains the transfers results.

Stage 2 - Surplus of Danny DEVLIN

Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Paul AITKEN	507	0.23160	117.42120
Transfer to Neil ANDERSON	77	0.23160	17.83320
Transfer to Chris LUNDAY	323	0.23160	74.80680
Transfer to Greg TURNER	165	0.23160	38.21400
Transfer to Frank WILSON	123	0.23160	28.48680
No further preference	558	0.23160	129.23280
Not transferred due to rounding			0.00520
	Total		406.00000

This report contains the transfers results.

Stage 3 - Surplus of Angela CONVERY

Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Paul AITKEN	42	0.17815	7.48230
Transfer to Neil ANDERSON	21	0.17815	3.74115
Transfer to Chris LUNDAY	1,368	0.17815	243.70920
Transfer to Frank WILSON	82	0.17815	14.60830
No further preference	123	0.17815	21.91245
Not transferred due to rounding			0.01215
	Total		292.00000

This report contains the transfers results.

Stage 4 - Surplus of Betty Wood CUNNINGHAM

Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Paul AITKEN	291	0.00590	1.71690
Transfer to Chris LUNDAY	175	0.00590	1.03250
No further preference	537	0.00590	3.16830
Not transferred due to rounding			0.00550
	Total		8.00000

This report contains the transfers results.

Stage 5 - Exclusion of Neil ANDERSON

95.75135

Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Paul AITKEN	16	1.00000	16.00000
Transfer to Chris LUNDAY	27	1.00000	27.00000
Transfer to Greg TURNER	4	1.00000	4.00000
Transfer to Frank WILSON	10	1.00000	10.00000
Transfer to Paul AITKEN	14	0.23160	3.24240
Transfer to Chris LUNDAY	15	0.23160	3.47400
Transfer to Greg TURNER	4	0.23160	0.92640
Transfer to Frank WILSON	6	0.23160	1.38960
Transfer to Paul AITKEN	1	0.17815	0.17815
Transfer to Chris LUNDAY	11	0.17815	1.95965
Transfer to Frank WILSON	1	0.17815	0.17815
Transfer to Paul AITKEN	11	0.00590	0.06490
Transfer to Chris LUNDAY	3	0.00590	0.01770
Transfer to Greg TURNER	1	0.00590	0.00590
Transfer to Frank WILSON	2	0.00590	0.01180
No further preference	17	1.00000	17.00000
No further preference	38	0.23160	8.80080
No further preference	8	0.17815	1.42520
No further preference	13	0.00590	0.07670
Not transferred due to rounding			0.00000
	Total		95.75135

Report Name: Transfers_V0001_Ward-1---Barrhead-Liboside-and-Uplawmoor_06052022_113154.pdf Created: 06-5-2022 11:31:54

This report contains the transfers results.

Stage 6 - Exclusion of Frank WILSON

Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Paul AITKEN	38	1.00000	38.00000
Transfer to Chris LUNDAY	122	1.00000	122.00000
Transfer to Greg TURNER	12	1.00000	12.00000
Transfer to Paul AITKEN	26	0.23160	6.02160
Transfer to Chris LUNDAY	25	0.23160	5.79000
Transfer to Greg TURNER	4	0.23160	0.92640
Transfer to Paul AITKEN	6	0.17815	1.06890
Transfer to Chris LUNDAY	48	0.17815	8.55120
Transfer to Greg TURNER	1	0.17815	0.17815
Transfer to Paul AITKEN	31	0.00590	0.18290
Transfer to Chris LUNDAY	27	0.00590	0.15930
Transfer to Greg TURNER	8	0.00590	0.04720
No further preference	67	1.00000	67.00000
No further preference	74	0.23160	17.13840
No further preference	28	0.17815	4.98820
No further preference	95	0.00590	0.56050
Not transferred due to rounding			0.00000
	Total		284.61275

This report contains the transfers results.

Stage 7 - Exclusion of Paul AITKEN

Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Chris LUNDAY	65	1.00000	65.00000
Transfer to Greg TURNER	97	1.00000	97.00000
Transfer to Chris LUNDAY	104	0.23160	24.08640
Transfer to Greg TURNER	91	0.23160	21.07560
Transfer to Chris LUNDAY	23	0.17815	4.09745
Transfer to Greg TURNER	1	0.17815	0.17815
Transfer to Chris LUNDAY	40	0.00590	0.23600
Transfer to Greg TURNER	61	0.00590	0.35990
No further preference	237	1.00000	237.00000
No further preference	352	0.23160	81.52320
No further preference	25	0.17815	4.45375
No further preference	232	0.00590	1.36880
Not transferred due to rounding			0.00000
	Total		536.37925

This report contains the transfers results.

Stage 8 - Exclusion of Greg TURNER

Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Chris LUNDAY	75	1.00000	75.00000
Transfer to Chris LUNDAY	38	0.23160	8.80080
Transfer to Chris LUNDAY	1	0.17815	0.17815
Transfer to Chris LUNDAY	48	0.00590	0.28320
No further preference	760	1.00000	760.00000
No further preference	226	0.23160	52.34160
No further preference	4	0.17815	0.71260
No further preference	185	0.00590	1.09150
Not transferred due to rounding			0.00000
	Total		898.40785